



On two diophantine equations

$$2^x + 3y^2 = 4^z \text{ and } 2^x + 7y^2 = 4^z$$

Julius Fergy T. Rabago

Department of Mathematics and Physics
College of Arts and Sciences, Central Luzon State University
Science City of Muñoz 3120, Nueva Ecija, Philippines
E-mail: julius_fergy.rabago@up.edu.ph

Abstract

We find all solutions to the Diophantine equations $2^x + 3y^2 = 4^z$ and $2^x + 7y^2 = 4^z$. Also, we give solutions to $2^x + dy^2 = 4^z$ in non-negative integers for $d = (2^k - 1)/9$, where k is a natural number $\equiv 0 \pmod{6}$.

Keywords: Exponential Diophantine equation, integral solutions.

1 Introduction

Different examples of Diophantine equations have been studied (*see* for instance [1, 2]). In [3], Acu studied some Diophantine equations of type $a^x + b^y = c^z$. Moreover, Acu [4] considered the equation $2^x + 5^y = z^2$. Cenberci and Senay [5] had studied the Diophantine equation $x^2 + B^2 = y^4$ and gave a conjecture, an analogue of Terai's conjecture. Furthermore, they proved in [5] that if $y \equiv 5 \pmod{8}$ is a prime power then their conjecture holds. If B is a prime power, $y^2 = Y \equiv 1 \pmod{8}$ then Terai's and their conjecture holds. Cenberci, Peker and Coskun [6] determined all solutions to the equation $x^a + y^b = z^c$, $(a, b, c) \in \{(2, 8, 6), (2, 6, 8), (8, 6, 2)\}$ in coprime integers x, y, z . Suvarnamani [7] studied the Diophantine equation $2^x + p^y = z^2$ where p is a prime number and x, y and z are non-negative integers. Rabago [8] have studied the two Diophantine equations $4^x - 7^y = 3z^2$ and $4^x - 19^y = 3z^2$, and in [9], Rabago considered the Diophantine equation $4^x - p^y = 3z^2$, p an odd prime $\equiv 3 \pmod{4}$.

In this short note, we find all solutions to the Diophantine equations $2^x + 3y^2 = 4^z$ and $2^x + 7y^2 = 4^z$ in non-negative integers. Also, we give solutions to $2^x + dy^2 = 4^z$ for $d = (2^k - 1)/9$ in non-negative integers, where k a natural number $\equiv 0 \pmod{6}$.

2 Main results

Theorem 2.1. *The solutions to the Diophantine equation $2^x + 3y^2 = 4^z$ in non-negative integers are given by*

$$(x, y, z) \in \{(2(n-1), 0, n-1) : n \in \mathbb{N}\} \cup \{(2(n-1), 2^{n-1}, n) : n \in \mathbb{N}\}.$$

Proof. We first consider the case when $z = 0$, obtaining $2^x + 3y^2 = 1$ in which we may deduce immediately that $x = 0$ and $y = 0$. For the case $x = 0$, we have $4^z - 3y^2 = 1$. This is true only when $z = 0, y = 0$ and $y = 1, z = 1$. On the other hand, if $y = 0$, we have $2^x = 2^{2z}$, or equivalently $x = 2z$. Now for the general case, $x, y, z > 0$, we have $2^{2z} - 2^x = 3y^2$. Then, $2^x(2^{2z-x} - 1) = 3y^2$. Hence, $2^x = y^2$ and $2^{2z-x} - 1 = 3$. The latter equation is true for $x = 2(z-1)$, and $2^x = y^2$ is satisfied for all $x = 2(n-1)$ and $y = 2^{n-1}$, where n is a natural number. Also, it follows that $z = n$. This proves the theorem. \square

Theorem 2.2. *The solutions to the Diophantine equation $2^x + 7y^2 = 4^z$ in non-negative integers are given by*

$$(x, y, z) \in \{(2(n-1), 0, n-1) : n \in \mathbb{N}\} \cup \{(2(n-1), 3(2^{n-1}), n+2) : n \in \mathbb{N}\}.$$

Proof. It can be shown easily that $(x, y, z) = (2(n-1), 0, n-1)$ is a solution for all natural number n . Now, if $x, y, z > 0$, we have $2^{2z} - 2^x = 7y^2$. Then, $2^x(2^{2z-x} - 1) = 7y^2$. Hence, x is even so $7y^2 \equiv 4^z - 2^x \equiv 0 \pmod{3}$. It follows that y is divisible by three, i.e. $y = 3k$ for some $k \in \mathbb{N}$. Letting $y = 3k$, we obtain $2^x(2^{2z-x} - 1) = 63k^2$, implying $2^x = k^2$ and $2^{2z-x} - 1 = 63$. The solution to $2^x = k^2$ is then given by $x = 2(n-1)$ and $k = 2^{n-1}$. For $2^{2z-x} - 1 = 63$ we have the solution $2z - x = 6$ or $x = 2(z-3)$. Furthermore, we see that $2(n-1) = 2(z-3)$, that is $z = n+2$. This completes the proof of the theorem. \square

Lemma 2.3. *If k is a natural number and $k \equiv 0 \pmod{6}$, then $2^k - 1 \equiv 0 \pmod{9}$.*

Proof. Let $k \equiv 0 \pmod{6}$ hence $k = 6m$, $m \in \mathbb{N}$. For $m = 1$, we have $2^6 - 1 = 64 - 1 = 63$ which is divisible by 9. Suppose $2^k - 1 \equiv 0 \pmod{9}$. Then, $2^k - 1 = 9l$, where l a natural number. So, for $m > 1$, we have $2^{k+1} - 1 = 2^{6m+1} - 1 = 64^{m+1} - 1$. It follows that $2^{k+1} - 1 = 64(64^m - 1) + 63 = 64(9l) + 63 = 9(64l + 63)$. Thus, $2^{k+1} - 1 \equiv 0 \pmod{9}$. By the principle of mathematical induction, conclusion follows. \square

In Theorem 2.2, it is interesting to note that $7 = (2^6 - 1)/9$. This observation provides us a motivation to generalize the given theorem. Our generalization is stated in the following result.

Theorem 2.4. *Let $d = (2^k - 1)/9$, where k is a natural number such that $k \equiv 0 \pmod{6}$. Then the solutions to the Diophantine equation $2^x + dy^2 = 4^z$ in non-negative integers are given by*

$$(x, y, z) \in \{(2(n-1), 0, n-1) : n \in \mathbb{N}\} \cup \{(2(n-1), 3(2^{n-1}), n-1+k/2) : n \in \mathbb{N}\}.$$

Proof. The proof is very similar to Theorem 2.2. It is clear that $(x, y, z) = (2(n-1), 0, n-1)$ are solutions to $2^x = 4^z$. Now, for positive integers x, y and z , we have $2^x(2^{2z-x} - 1) = dy^2$. It follows that x is even so $dy^2 \equiv 4^z - 2^x \equiv 0 \pmod{3}$. This implies that y is divisible by 3. Letting $y = 3m$, m a natural number, we have $2^x(2^{2z-x} - 1) = (2^k - 1)m^2$. That is, $2^x = m^2$ and $2^{2z-x} - 1 = 2^k - 1$. Thus, $x = 2(n-1)$ and $m = 2^{n-1}$ which implies that $y = 3(2^{n-1})$. Furthermore, we see that $2z - x = k = 6l$, for some $l \in \mathbb{N}$. Therefore, $x = 2(z - 3l) = 2(z - k/2)$. Here we conclude that $2(n-1) = 2(z - k/2)$ or $z = n-1 + k/2$. The theorem is proved. \square

3 Conclusion

In the paper, we have found all solutions to the Diophantine equation $2^x + 3y^2 = 4^z$ in non-negative integers. The solutions are given by $(x, y, z) \in \{(2(n-1), 0, n-1) : n \in \mathbb{N}\} \cup \{(2(n-1), 2^{n-1}, n) : n \in \mathbb{N}\}$. Also, we have shown that for $d = (2^k - 1)/9$ and natural number $k \equiv 0 \pmod{6}$, the solutions to the Diophantine equation $2^x + dy^2 = 4^z$ in non-negative integers are $(x, y, z) \in \{(2(n-1), 0, n-1) : n \in \mathbb{N}\} \cup \{(2(n-1), 3(2^{n-1}), n-1+k/2) : n \in \mathbb{N}\}$.

Acknowledgements

The author wishes to thank Melchor A. Cupatan for his valuable comments and suggestions for the preparation of the manuscript.

References

- [1] T. Andreescu, A note on the equation $(x + y + z)^2 = xyz$, *General Mathematics*, **10**, 2002, no. 3-4, 17-22.
- [2] N. Terai, On the Exponential Diophantine Equation $(4m^2 + 1)^x + (5m^2 - 1)^y = (3m)^z$, *International Journal of Algebra*, **1**, 2012, no. 23, 1135-1146.
- [3] D. Acu, On the diophantine equations of type $a^x + b^y = c^z$, *General Mathematics*, **13**, 2005, no. 1, 67-72.
- [4] D. Acu, On a diophantine equation $2^x + 5^y = z^2$, *General Mathematics*, **15**, 2007, no. 4, 145-148.
- [5] S. Cenberci, and H. Senay, The Diophantne Equation $x^2 + B^m = y^n$, *International Journal of Algebra*, **3**, 2009, no. 13, 657-662.

- [6] S. Cenberci, B. Peker, and S. Coskun, On Solutions of the Equations $x^2 \pm y^8 = \pm z^6$, *Int. J. Contemp. Math. Sciences*, **7**, 2012, no. 14, 685-692.
- [7] A. Suvarnamani, Solutions of the diophantine equation $2^x + p^y = z^2$, *Int. J. of Mathematical Sciences and Applications*, **6**, 2011, no. 3, 1415-1419.
- [8] J. F. T. Rabago, *On Two Diophantine Equations $4^x - 7^y = 3z^2$ and $4^x - 19^y = 3z^2$* , Thai Journal of Mathematics (submitted).
- [9] J. F. T. Rabago, *A Note on the Diophantine Equation $4^x - 3z^2 = p^y$, $p \equiv 3 \pmod{4}$* , Notes on Number Theory and Discrete Mathematics (submitted).